57900 TAEREOUAER AR CERISEIH)

JR o
JR
JR
0.30kg/m? D
3
4w kg/n
i’ 1950 286
T (25kg)| 8*2 44.0 " s o
2)
No NaCl
A-1-1 1.0 S
A-2-1 S
A-2-2 2.0 S
B-1-1 1.0 S
B-2-1| 0.15kg/m’ | , =)
B-2-2 - pa
c-2-1 3 S
55 0-30kg/m 2.0 —
D-1-1 5 | 1.0 S
D2-1 0.50kg/m 50 =
E-2-1 3 S
NaCl E5—5] 0-60kg/m 2.0 —
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5-500 TARFERFEOURMHFER P HES (CERKI8HIA)

No.
A-1-1| 3.9 | 0.0196 [0.0173
A-2-1 A-1-2| 4.4 | 0.0253 [0.0218
A2-1] 3.4 [ 0.0320 [0.0272 0.0011 f 0.0081
A-2-2 A2-2] 3.0 | 0.0264 [0.0228
B-1-1] 4.7 | 0.0296 |0.0244
B-2-1| 3.8 | 0.0378 |0.0328 0.0163 | 0.0233
5 B-2-2| 3.8 | 0.0378 |0.0328
C2-1| 4.6 | 0.0564 [0.0470 0.007
C-2-2] 4.8 | 0.0620 |0.0506 0.0314 | 0.0384
D-1-1| 2.8 0.086_ | 0.071
D-2-1] 1.9 0.086_|0.078 0.0509 | 0.0579
E2-1] 1.8 0.076_ |0.072
2 E2-2| 1.9 0.086_ | 0.078 0.0618 | 0.0688
F2-1] 2.6 0.140 | 0.122
F-2-2] 2.9 0.182 | 0.152 0.1225 | 0.1295
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